Remarks from the language copy-editor
CE1 Please give an explanation of why this needs to be changed. We have to ask the handling editor for approval. Thanks.

This sentence describes the value beta_s in the actual transpiration. The range of beta_s value is from 0 to 1. When the groundwater table is higher than the root depth, the vegetation is able to extract water from the saturated groundwater layer, so the transpiration should reach the maximum. So, beta_s = 0 is a typo here. 
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CE2 Please give an explanation of why this needs to be changed. We have to ask the handling editor for approval. Thanks.

Although we discussed more unsaturated and saturated layers in the previous paragraph that could increase the model performance on vertical flux, we did not perform the experiments in this paper. We did the calibration with more parameters instead of alpha, beta, and theta_r that mentioned in the paper. The calibration with more parameters yielded a smaller bias. 


Remarks from the typesetter 

TS1 Please give an explanation of why this needs to be changed. We have to ask the handling editor for approval. Thanks. 

The range of bias should be 0 to infinite. The denominator should be inside of the absolute value symbol, otherwise, the bias could be negative.

